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Algebra I, Quadratic Equations

Solve the following quadratic equations.

(1) 22 +52+4=0
OA z=—-4orx=-1
OB z=4o0rzx=-1
OC z=—-4orxz=1
OD z=-2o0rz=2

(3) 22 =52z +6=0
OA z=-3orx=2
OB z=3o0rzx=2
OC z=-3orz=-2
OD xz=6orz=1

(5) 22— —-6=0
OA z=6orz=-1
OB z=—-6orzx=1
OC xz=3o0rz=2
OD x=3o0rz=-2

(7) 22 +112+10=0
OA z=2o0rx=5
OB z=—-2o0rx=-5
OC z=—-10o0rzxz=-1
OD xz=100rzxz=1

(9) 222 +52+2=0
OA x:%orx:2
OB z=2o0rz=1
OC z=—-1lorz=2

OD z=-1orz=-2

(2) 222 - 52 —-12=0
OA =«
OB z=3o0rx=-4
OC =z
OD =z

(4) 622 —192+10=0
OA =«
OB z=—-10o0rz=-1
OC =z
OD =z

(8) 322 +5x+2=0
OA x:—%ora}:—l
OB z=2o0rz=1
OC z=—-1lorz=

OD z=-3orz=-1

win

(10) 622+ 13z +6=0

OA xz%orx:—fi
OB xz—%ormz—%
OcC xz%orx:—%
OD xz=6o0rz=1
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